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'RED SWASTIKA SCHOOL
2021 PRELIMINARY ASSESSMENT

MATHEMATICS
PAPER 1

Name : ( )

Class : Primary 6/

Date : 20 August 2021

BOOKLET A

15 Questions
20 Marks _
Duration of Paper 1 (Bookiets A & B): 1 hour

Note:

2. Read carefully the instructions given at the begi
of each part of the Booklet. _

3. Do not waste time. i a question is difficult for you,
ge on to the next one. _

4. Check your answars thoroughly and make sure you
attempt every question.

5. In this booklet, you should have the foilowmg
(a) Page {1 toPage &
{b) Questions {1 to 15

6. You are not allowed to use a calcuiator,

1. Do not open this Boaklet until you are toid to do ?C)
nning




Questions 1 to 10 camry 1 mark each. Questions 11 to 15 cary 2 marks each.
‘For each question, four options are given. One of them is the €0 answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2,3 0r 4) on the
Opticai Answer Sheet. , (20 marks)

1 What does the digit 5 in 4.265 stand for?

{1} 5ones

(2) 5tenths

(3) 5 hundredths
(4) 5 thousandths

2 How many hundreds are there in ten million?

(1) 1000
(2) 10000
(3) 100000

{4) 1000 000

3 What is the length of the pencil below?

pencil
RN AR SN SUTNE NN ATl
0 1 2 .3 4 5 écm
(1) 5.1cm
(2) 5.2em
(3) 53cem

{4) 56cm




The opening hours of 3 cafes on each day are listed in table below.

Cafe A Cafe B : Cafe C

0900 to 1530
1700 to 1930

10.30 am.to 8 p.m. 1300 to 2330

Which of the following timeslots would you find that all the 3 cafes are
open for the day?

(1) Mamtolpm.

(2) 530pm.to7p.m.

(3) 9.30am.to 12 noon
{4y 7.30pm.fo11.30p.m.

The figure below is formed by using 2 identical squares of side 7 cm.
Find the area of the figure. .

(1) 28cm?
(2) 42om?
(3) 49cm?
(4) 98 cm?

In a game, three participants obtained scores in terms of w as shown
in the table below.

Participant Ali Ben Cindy
Score w+s .l A4w-2 30 - 2w

If w = 2, find their total score.

(1) 38
(2) 42
(3) 51
(4) 55



The table shows the number of people at a party, Half of tem are girls
and women. How many boys are there at the party?

People Men Women Boys - Girls
Number 7 9 7 15

(1) 24
2 17
(3 16
@y 15

Study the 4 figures below.

Circle Rhombus

1 /\

Equilateral Triangle

Parallelogram

How many of these figure(s) has/have at least 1 line of symmetry?

(1} 1
2 2
3 3
@ 4




10

Mrs Wee had = kg of sugar. She packed the sugar into bags such
‘ 1
that the mass of each bag of sugar was % kg. After packing the most

aumber of such bags of sugar, how much sugar was left over?

1
(15 ;,._'kg
1
(2) 3kg
1
{3) %kg
1
4 Fko

Study the figure drawn on the square grid below.

Which of the foliowing describes the 2 listed figures correctly?

Isosceles Triangle rapezium
@ CDE AKND
(2) ABE BCNK
{3) LME BCDE
(4) BCE ABCD



1

”

13

On the square grid below, A, B, C and D ars 4 toﬁns,

[A1

8| [p 1
BER

Which of the Tollowing statenvents is correct?

{1) BiseastofD
(2) AisnorthofB-
(3) Blisnosth-eastof C
{4) Cis south-westof D

The tabite shows the rate of t:hargesfﬂreach game p{ayexﬁ at a carnivat.

For the ﬁFsIB gairies e 4 por game

Aﬂer the Sgames 7 ' 53 per game 7

Janet wept to the cafival with $4ﬁ for playing games. A
many games could she play?

(1} 10
{2y 12
3y 13
4 14

t most, how

Jim used & caicuiator to find the average of 4 numbers. The

sum.of

the-4 numbers was calcuiated accurately. While dividing, he made a
mistake by pressing 6 insteat! of 4. He obiained tha incdrrect BNSWer

of 72. What shouid be the gorrect average?

(1) 48
(2) 96
() 108
(4 218




14 Thefigurs is made up of 4 identical quarter circles and a square. The
radius of éach quarter circle js § cm. Using = = 3.14, find the perimeter
of the figure, |

(1} 85.7cm
(2) 46.4cm
(3) 58%14oem
(4y 71.4cm

15

Special Offer

Voo
Lo

$2 per mango.
$10 for one box of 8 mangoes.
Additional discount of $3 for every $50 spent.

Mrs Ling wanted to buy mangaes during the special offer. Whal was the
least amount she had to pay to get 100 mangoes?

‘(1) $120
) $122
(3) $128
4y $130
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Questions 16 to 20 cany 1 matk each. Write your arswers In the spaces
previded. For questions which require units, give your answers in the tnits
" gtated. C {8 marks)

16 Find the valup of 15~ 3 + 12 = 3 x4,

. Ang:

17 The figure below is formed by straight fines. Find 2m,

Ans:

18 The table below shows the number of books bommowed by students i a
_ class from Monday to Thursday.

1 pay ] Men | T Wed Thy
| Numberof , 1
} books borrowed 20 18 7 S

What fraction of the total number of bogks far the 4 days were borrowed
ah Montay? o

- Afs;




19 Machine A makes twice as Tiany bottles as Machine B in a minute.
Together, both machines make 360 bottles in 4 minutes. How many
minutes will it take Machine A by itself to make 360 bottles?

Ans: min

20 On the grid below, draw a straaght line AC such that AC L AB and AC is
twice as long as AB. :




Questions 21 to 30 carry 2 marks each, Show your warkings eieariy in the space
previded for each guestien and write your answers in the ‘spaces previded, For
questiohs which reqwre units, give your answets in tha unﬂs stated.

{20 marks)

21 Findthe value of
(a8) 62-045
(b)Y 23+7 asadecimalte nearest tenth

Ans: (&)
()

. R2  Studythe friangle below. Measure and write down the value of
(a) thelengih of the longest side of the triangle to the nearest cm.
(b) the smallest angle in the triangle.

Ans: {a) . m

{b)




3

List 2 equivalent improperfractions of 2

23

Ans:

On the square grid below, AB is & straight line. Draw straight {ines to

complete an isesceles friangle ABC.

24
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25  The sum of 2 numbers is 32, The sum of another 8 rumbers is 36. What
& the average of the 5 fumbers?

Ans:

26 Thesalid bilow is Made up of 8 identical cubes.

- Side view

/

Front view

On the square grid below, draw the front and the side view of the solid.

Front View Side View

R S Ml et s Rl i Rt S e ]
i 1 ] ¥ ' ) t H ' ] ¥ [ t 3
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Use the information below to answer Questions 27 and 28.
There are three different objects A, B and G. The graph below shows the total

mass af any two objects when they are weighed together.

Massin g

Aand B Agnd C B and C
Objects

27  What is the ratio of the total mass of objects Aand B to the total mass
of objects B and C? Give your answer in the simplest form.

Ans:

28  Whatis the average mass of the three objects?

Ans: ' .

12



23 During a festive celebration, Bala and Tom helped to pack identical
hampers for some fatnilies._ Bala packed 10 hampers in 25 hours and
Tom packed 12 hampers in 3 hours. :

Based on the infermation above, each statement below is either true, false

or not possible to tell. For each statement, put a tick {¥) in the correct
column.

| Not
Statement True False | possible

to tell

i {a) At his packing rate, Baia
would take 15 hours to pack
60 hampers.

(b) On averags, Tom took a

longer time to pack a hamper
than Bala.

30 The perimeter of the square is 3 cm iongér than the perimeter of the
triangle as shown below. Find the value of n. '

Triangle

Square
4niem
3ncm 15 cm
(n+Y)em
Ans:

END OF PAPER

13
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Questions 1 10 § carry 2 marks each. Show your workings clearty in the spaice below
sach question and write Your answers in the spaces provided. For glestions which

require unfts, give your ahswers in fhe units stated.

{10 marks}

1 Ken seid 3 tnial of 24[3\ ]arge an d small watermelons. The drios of each
lacgs watsrmeion is $8. He seld 64 more smal watermelons than the large

aries. Whatwas the total @meunt he had collected from seling
vatermelons? |

Ans: §

alf the large:

2 A-veading club has members made up of only students from Phm ary 5 and

Prithary €. Thete gre 30 students from Primary 5 and 99 students from

. 2 ‘ _ _ :
Primary 6. 5 of the Primary 5§ students and -1% of the Priman,
are gifs. What fraction of fae members are gins?

y 6 students




3 The figure is made up of 3 different circles. The radii of the three circles are
3 ¢m, 5 cm and 8 cm. Find the total shaded area of the figure in terms of z,

Ans: cm?

4 Jane bought 2y packets of 8 taris each. Lina bought {y + 12) more tarts
than Jane. Jane gave away Sy tarts and Lina ate 3 tarts. Find the total
number of tards left. Give your answer in terms of y.

Ans:




In the figure below, ABCD is a rhombus, COFE is an edu‘ilaterai triangle
and ZDAB = 108°. Find ZDEB, .

Ans:




For Questions 6 to 17, show your workings clearly in the space below each guestion .
and write your answers in the spaces provided. The number of marks available is
shown in brackets [ ] atthe end of each question or pant-question.

(45 marks)

6 A book has 30 pages with no missing pages. Two examples of the two page
numbers facing each other are shown below.

(a) Page 4 and Page 5 is an example of pages facing each other, with-
their page numbers being multiples of 4 and 5 on each page.

State another two pages facing each other with their page numbers
~ being mulfiples of 4 and 5 on @ach page.

(b) State a page number in this book that has enly 6 factors? Find the
surn of the 6 factors of the page number you have stated.

Ans: (a) Page , Page (1]
() Page {1
Sum is [1]




7

Helen received a coupon as shown below. A pnntmg BITOT had
the price of prawns before discount, :

covered

Membership coupon

Usual Price before discount Member’s Disco
Prawns at $§ @ per kg 30%
Fish at $13 per kg 40%

unt

Helen went to purchase the 2 Rems. She paid a tota! of $48 to
prawns and 4 kg of fish using the coupon. Whatwas the pnce
prawns before discount?

Ans;

buy 1 kg of
of 1 kg of

(31




in the square ABCD below, AF =FE = ED and BG = GC. If AB =18 cm and
DH =4 cm, find the total area of the shaded parts.

A_, F

A

18 om

Ans: (3]

u3]
w




In the figure below, ABCD is a thombus, ADEF is & trapezium, DE = DF.
ZCAD = 38° and LDEF = 76°. |

(a) -Be%sides ADEF, name another trapezium. -
{b) Find 2ZABC.
{c) Find £CDF.

A

M
(b) (1]
(c) (3]

Ans: {a} Trapezium ‘




10 A library had 48 laptops ready for loan at 14 00 at its counter. L.aptops were
issued out on loan only for the first hour. Then the borrowers could return
the laptops from 15 0010 16 30. The line-graph shows the number of laptops
atthe counter from 14 00 10 16 30.

.

Number .
of il ":'
faptops ; !
atthe 2 b7 ; - et
counter g | -; : L. . ‘; R ﬂ .
| | P ‘ -

14 00 1430 4500 1530 1800 16 30
Time

{a) What was the ratio ‘of the number of laptops at the counter o the
number of laptops loaned out at 16 007 Express your answer in its
simplest form.

{b) Whatwas the percenfage decrease in the number of the laptops at
the counter from 143016 15 007

{c) Onavetage, how many laptops were retumed to the counter per hour
from 15.00 to 18 307

Ans: (a) =
(b} 12]
(c) 1]




Ali and Jim had some red and blue marbles. Jim had twice as many marbles
as All. Ali had red and blue marbles in the ratio of 1 : 5, Jim had red and
biue marbles in the ratio of 5 : 3. What was the ratio of their tgtal number of

red marbles to their total number of blus mathles?

Ans: 3]




) 3 1
12  Ina baskst, 3 of the fruits are oranges, p of the remainder are pears and

the rest are apples. There are twice as many green apples as red apples.

What fraction of the fruits in the basket are green apples?

Ans: 3]

10




13

{c) Based on the figure abave, fill in the bianks below with

The figure below is formed using straight lines with the following conditions:

'AE //BD, BA // CE, AE=BC, ED = EF, £ZEDG = 24° and ZBAF = 105°.

{a) Find £CGD,

(b) Find £GED.

A
105°

Ans: ()

(b)_

(i
[l

paralielogram, rhombus or trapezium so that the statement about

ABCE and BFED is comrect.

ABCE is 3 and BFED isa

1]

11




14 The recténgie beiow contains 5 identical quarter circles. The radius of each
quarter circle is 10 cm. Shape A and Shape B were cut outas shown.

(a) Using the calculator value of 7, find the area of Shape A. Round off
the answer to 2 decimal places.

(b} Using n =3.14, find the difference in the perimeter of Shape A and
Shape B.

Ans: (@) ___ 12
(b) (2]

12 4




45

Sili spernit 2096 of her mohey an. 1 bag and 2 Toshirts. The bag cost 3 fimes

as oiigh as gach T-shil. $he spenit 80% of the rernaining iMoney on4 pair

of shoes,

() Vihal was the ratio of the price of the bag ta the price of 1 T-shirt to
e price af the pair of shoes? !

(b} Lynn bsught thie same 4 items as il a Tew weiaks later. The price of
e stous decreased by 25% ania the price of e fést ; if ilems were

ot changed. Ly peid §36 less than 576 How much dig L
forall the 4 ftems¥

Ans: {a}
®)

@

13




16

William joined 4 identical square frames as shown below. Al the 13 sides of
the square frames were tied with balloons.

He tied the same number of big balloons on each side of the square frame.
Batween every 2 big balloons, he tied 5 small balloons.

(a) I William had 30 big balloons, what was the greatest number of big
bailoons he could tie on each side of the square frame?

(b) How many big and small balloons would he need altogether if he tied
10 big batloons on each side of the square frame?

Ans; (a) ‘ {1
(b)._ 4]




- 4T Tom buitt solid A by gluing together some identical cuboids
identical cubes X 3s shown.

lﬁﬂube X

Solid

Solig A

Y and some

8

R - atur s i d |

Tom built solid B by gluing 4 solids A together and then paintéd all the

6 faces of solid B.

(@) Find the velumie of solid A.

{8} How many cubes X have none of the taces painted i 6

fid B7?

(c) How many cubes X have-ofily 2 of the faces painted in solid B?

Ans: (a)

2]

{b)_

(1

{c}

1

END OF PAPER
15

\



ANSWER KEY

2021

=397

m’3=1rx3x3=91t
397 +9 =481

YEAR

LEVEL PRIMARY 6

SCHOOL RED SWASTIKA

SUBJECT MATHEMATICS

TERM PRELIMINARY

BOOKLET A (PAPER 1)

Qi 4 Q2 3 Q3 2 Q4 2 Qs 4

Q6 1 Q7 2 Q8 3 Q |3 Q10 |a

Qi1 |4 Q2 (2 Qi3 |3 Q14 |3 Q15 |2
BOOKLET B {PAPER 1}

Q16 |28 Q17 | 142
Qi % Q19 |6

Q20 a21 a) 5.75

b) 3.3
Q22 Q23 | 19 38
8 16

Q24 Q25 | 13.6

Q26 Q27 !5:4

Q28 Q29 a) True

- . b} False

Q30 |7

PAPER 2

.cu' $8x 88 =$704 Q2 2_'1

Q3 |mx8x8-wx5x5=641w-257 Q4 (28y+9)

Q5 | BCE->108°-60°=48° Q6

a} Page 24 ,Page 25




60 + 66 =126 .| . b) Page 12
_ - : : Sum is 28
Q7 |$13x4=852 : Q8 |204cm2
52+ 10 x 6 = $31.20
$48 - $31.20 = $16.80
$16.80 ~ 7x 10 = 524
Q9 a) DEFC . Q10 a) 5:1
b) 104° ' : b} 40%
ol e)-10° ' ¢} 16
Qll | 12ux2=24u ' Q12 [1,5.5
- 15u + 2u = 17u _ ST
9u + 10u=19u -3 m %
17:19 . : | 3u: 2
ik : ‘ 32
| 1u: _—52-
. ‘ Zu :l—i-
Q13 a) 180°-105°=75° Qla a) 335.62cm2
180° - 75° — 24° = 81° b) 27.1cm
b) 180°—24° — 24° = 132°
132°-75°=57°
¢} Parallelogram , Trapezium
Qis a) 3:1:2 Qié a) 3
b) $168 b) 699
Q17 a) 1} = 3cm
12 +3=15cm
- 3x5=15cm
15x15x 3 = 675cm2.
b} 12 -
c) 22




